
S
K

26
78

: P
S

C
14

D
  T

ab
le

to
p 

S
pl

it 
Li

d 
Tw

o-
S

id
ed

 G
ril

l

Model: PSC14D, Split Lid Two Sided Grill SK2681, Rev. C   5/29/14

1
2 3

7

4 5 6

8 6

9

10

11

12

13
14

15

16

14

17
21

22
23

13
12

24
19

20

25

10

19

28

29

14

30

31

14

32

33

34

35

36

37

41

46 45 44 43 42

47

10

53

13

54
55

5
56

51

52

38
50

48
49

40

39

38

21

22
26

27

12

13

18



S
K

26
78

: P
S

C
14

D
  T

ab
le

to
p 

S
pl

it 
Li

d 
Tw

o-
S

id
ed

 G
ril

l
Parts List	 January 07, 2015, Rev. D

Model: PSC14D Split Lid Two Sided Grill
Fig No. Part Number Quantity Description Application

1
2E-Z16762

1
CONDUIT AY., RIGHT

2E-Z16763 CONDUIT AY., LEFT
2 2I-Z14209 2 O-RING
3 2F-Z16425 2 HOUSING,CONDUIT
4 2C-Z2992 8 BOLT 1/4-20X1 PHP STL NP
5 2C-08-07-0262 8 WASHER, SS 1/4 INT-LOCK
6 2C-08-07-0040 12 NUT 1/4-20 ACHD STL NP

7
2V-Z16435 2 AY.,HANDLE,ARM & BURN GD
2V-Z18619 2 ARM ASSY., SPT, NO BURN GUARD PSC14DDT

8 2C-Z3200 4 PIN - TOP HOUSING

9
D9-GR0624

1
WELD AY.,LEFT TOP HOUSING

D9-GR0625 WELD AY.,RIGHT TOP
10 2C-Z5883 26 10-24 X 1/2 FZA SCREW
11 2C-Z2899 4 5/16-18UNC TOPLOCK L/NUT
12 2C-1827 13 WASHER #10 EXT STL NP
13 2C-1512 13 SCREW 10-24X3/8 RHP STL
14 2C-Z2893 26 NUT 10-24 HEX STL ZP
15 D9-Z13013 4 BRACKET, INSULATION HOLD
16 D9-Z2133 2 INSULATION FIBERGLASS TOP
17 D9-Z13011 2 PLATE-TOP ELEMENT RET.

18
2N-Z9325

2
ELEMENT 500 WATT 120V SPT 120V, CUL

2N-Z9326 ELEMENT 500 WATT 240V 208V,230V, 240V, UK, JPN
19 2C-08-07-0285 12 SCREW 10-24X3/4X3/8 TYPE
20 2F-Z16421 2 CASTING,14ST,SM,POL.
21 2C-2853 3 SCREW #8 5/8 A THP STL NP
22 2C-Z3350 3 HALF CLAMP .188 D STL ZP
23 2E-Z3278 2 RTD PROBE - 48” LONG WIRE
24 D9-Z3903 2 BRACKET, PROBE MOUNT
25 2F-Z17603 1 CAST.ALSM14B,.44SPL,POL.
26 2E-Z1470 1 SENSOR-RTD 2000 OHM
27 D9-Z12027 1 PROBE BRACKET - BOTTOM

28
2N-Z9324

1
ELEMENT 1300WATT 120V-14B 120V, CUL, 

2N-Z9327 ELEMENT 1300WATT 240V-14B 208V, 230V, 240V, JPN
29 D9-Z13338 1 ELEMENT & INSULATION PLT
30 D9-Z2888 1 INSULATION - 14”
31 D9-Z12885 2 INSULATION HOLD DOWN,

32

2E-Z4119

1

POWER CORD, 12/3, 5-20P 120V, CUL
2E-Y9253 INLET IEC 320 16 AMP 230V, UK
2E-Z2905 CORD SJTO 12/3 NEMA 6-20P JPN
2E-Z9192 CORDSET (DETACHABLE) UK
2E-Z19809 CORD SET L5-30, 12/3, 6FT PSC14DKL-CUL
D9-GR0193

POWER CORD ASSY
CUL

D9-GR0194 208V, 240V
33 2K-Y6764 1 BUSHING - STRAIN RELIEF
34 D9-GR0588 1 GREASE DRAWER ASSY.
35 2C-6349 4 SCREW #8X3/8 B THP STL NP
36 2A-Z11501 4 FOOT 1” SOLID RUBBER

37
D9-GR0628

1
BASE & GRS CAB,4”TLL BDY 120V, CUL

D9-GR0634 BS & GRS CAB, 4”TLL BDY230 230V, UK
38 2C-Z2594 18 NUT 6-32 HEX W STL NP
39 2K-08-07-0004 8 SPACER ROUND NYLON



STAR INTERNATIONAL HOLDINGS INC. COMPANY
Star - Holman - Lang - Wells - Bloomfield - Toastmaster

10 Sunnen Drive, St. Louis, MO 63143 U.S.A.
(314) 678-6303

www.star-mfg.com

Parts List	 January 07, 2015, Rev. D

Model: PSC14D Split Lid Two Sided Grill
Fig No. Part Number Quantity Description Application

40

D9-GR0629

1

CNTRL PROG.,TACO BELL PSC14DTB-120V, -CUL, 208V, 
240V

D9-GR0630 CNTRL PROG., DEL TACO PSC14DDT
D9-GR0635 CNTRL PGM., TACO BELL, 230 PSC14DTB-230V, JPN
D9-GR0647 CNTRL PGM (PSC14DK-UK) PSC14DK-UK
D9-GR0658 CNTRL PROG. (PSC14DK-120) PSC14DK-120

41 2K-Z1971 8 SPACER .257X.75X.25 NYLON
42 2E-Z3808 1 SWITCH(EATON)-30A@120V,

43
2M-Z15638

1
OVERLAY, TACO BELL PSC14DTB

2M-Z15853 OVERLAY, STANDARD PSC14DDT, PSC14DK
44 Z1-70-07-0343 1 SWITCH GUARD
45 2M-12-07-0038 1 LABEL ON & OFF
46 2I-05-07-0013 1 BOOT SWITCH
47 2A-Z11582 2 PLATE, HINGE MECH MOUNT
48 2R-Z3345 1 COUNTER BALANCE-SPLIT TOP
49 2C-Z2593 4 10-24x1 1/2 SL HX/W NP
50 2E-Z2894 1 TERMINAL BLOCK (304)

51
2E-05-07-0351

1
TRANSFORMER 115/10V 6VA 120V, CUL

2E-05-07-0350 TRANSFORMER 230V/10V 6VA 230V, UK, 208V, 240V
52 2E-Z3335 3 RELAY DBL POLE-SNGL THROW
53 2C-6260 8 WASHER #10 INT STL PSC14DDT-120
54 2V-Z3072 2 HANDLE-SIDE PSC14DDT-120
55 D9-Z18465 4 BRACKET, HANDLE SPLIT PSC14DDT-120
56 2C-1522 4 SCREW 1/4-20X.5 STL PSC14DDT-120


